
PARTS LIST
P-7100D
JAN. 1999

F.O.B. Northbrook, Illinois                        Terms: Net 30 Days      Minimum order $50.00

*Recommended spare parts.  Always specify pump model and serial number when ordering replacement parts.

Single Mechanical Seal
Model 1½ x 1½KModel 1½ x 1½K

SERIES 'K'
PVDF CHEMICAL PUMP AND MOTOR

@

ITEM DESCRIPTION PART NO.
1 Suction casing - PVDF
  1½” NPT 44-4025

1½” sanitary1½” sanitary 44-6044
2* Impeller - PVDF

#1 - 3” diameter 44-4026-1
#2 - 3-1/8” diameter 44-4026-2
# 3 - 3-5/8” diameter 44-4026-3

3 V-Retainer coupling - stainless steelV-Retainer coupling - stainless steelV-Retainer coupling - stainless steel 22-0561
4* Mechanical seal assembly

M2 - Viton, Carbon, Ceramic (standard) 55-0560
M3 - Viton, Carbon, Fluroide Resistant Ceramic 55-0561

5 Hex head machine screw -stn.stl. 3/8-16x¾ (4 req’d)Hex head machine screw -stn.stl. 3/8-16x¾ (4 req’d)Hex head machine screw -stn.stl. 3/8-16x¾ (4 req’d) 11-0371
6 Flat washer - stainless steel 3/8” size (4 req’d)Flat washer - stainless steel 3/8” size (4 req’d)Flat washer - stainless steel 3/8” size (4 req’d) 11-0126
7* O-ring - Viton (standard)O-ring - Viton (standard)O-ring - Viton (standard) 22-0298
8 Support casing - PVDFSupport casing - PVDFSupport casing - PVDF 44-4027
9 Motor - Totally enclosed fan cooled 115-230/1/60 with motor shaft For use w/shaft adapterFor use w/shaft adapter

¾ H.P. 44-4017

Contact Application 
Engineering Department

1 H.P. 44-4018
1½ H.P. 44-4019

Totally enclosed fan cooled 208-230-460/3/50-60 with motor shaft
¾ H.P. 44-4024
1 H.P. 44-4029
1½ H.P. 44-4028
2 H.P. 44-4022

Explosion proof 230-460/3/50-60 with motor shaft
¾ H.P. 44-3935
1 H.P. 44-3934
1½ H.P. 44-3933
2 H.P. 44-3932

10 Shaft adapter(optional) 
Titanium 44-5087
316 stainless steel 44-4339

Refer to Bulletin P-103 andRefer to Bulletin P-103 and
Operation and Service Guide O-810Operation and Service Guide O-810


